MAGNETIC CORE DRILL
ID MD50HQ

Part No.: 26956

OPERATION INSTRUCTIONS

Read though carefully and understand these instructions before
use.



GENERAL POWER TOOL SAFETY WARNINGS

(For All Power Tools)

A WARNING! Read and understand all instructions. Failure
to follow all instructions listed below may result in electric shock, fire
and/or serious personal injury.

Save all warnings and instructions for future reference.

The term “power tool” in the warnings refers to your mains-operated (corded) power

tool or battery-operated (cordless) power tool.

Work Area Safety

1. Keep work area clean and well lit. Cluttered or dark areas invite accidents.

2. Do not operate power tools in explosive atmospheres, such as in the
presence of flammable liquids, gases, or dust. Power tfools create sparks
which may ignite the dust or fumes.

3. Keep children and bystanders away while operating a power tool.

Distractions can cause you to lose control.

Electrical Safety

4. Power tool plugs must match the outlet. Never modify the plug in anyway.
Do not use any adapter plugs with earthed (grounded) power tools.
Unmodified plugs and matching outlets will reduce risk of electric shock.

5. Avoid body contact with earthed or grounded surfaces, such as pipes,
radiators, ranges and refrigerators. There is an increased risk o electric shock
if your body is earthed or grounded.

6. Do not expose power tools to rain or wet conditions. Water entering a power
tool will increase the risk of electric shock.

7. Do not abuse the cord. Never use the cord for carrying, pulling or
unplugging the power tool. Keep cord away from heat, oil, sharp edges or
moving parts. Damaged or entangled cords increase the risk of electric shock.

8. When operating a power tool outdoors, use an extension cord suitable for

outdoor use. Use of a cord suitable for outdoor use reduces the risk of electric shock.



9. If operating a power in a damp location is unavoidable, use a residual current
device (RCD) protected supply. Use of an RCD reduces the risk of electric shock.
NOTE: The term “residual current device (RCD)” may be replaced by the term
“ground fault circuit interrupter (GFCI)” or “earth leakage circuit breaker (ELCB)”.

Personal Safety

10. Stay alert, watch what you are doing and use common sense when operating a
power tool. Do not use a power tool while you are tired or under the influence
of drugs, alcohol, or medication. A moment of inattention while operating power
tools may result in serious personal injury.

11.Use personal protective equipment. Always wear eye protection. Protective
equipment such as dust mask, non-skid safety shoes, hard hat, or hearing protection
used for appropriate conditions will reduce personal injuries.

12. Prevent unintentional starting. Ensure the switch is in the off-position before
connecting to power source and /or battery pack, picking up or carrying the
tool. Carrying power tools with your finger on the switch or energising power tools
that have the switch on invites accidents.

13. Remove any adjusting key or wrench before turning the tool on. A wrench or a
key left attached to a rotating part of the power tool may result in personal injury.

14.Do not overreach. Keep proper footing and balance at all times. This enables
better control of the power tool in unexpected situations.

15.Dress properly. Do not wear loose clothing or jewellery. Keep your hair,
clothing, and gloves away from moving parts. Loose clothes, jewellery or long
hair can be caught in moving parts.

16.If devices are provided for the connection of dust extraction and collection
facilities, ensure these are connected and properly used. Use of dust collection

can reduce dust-related hazards.

Power Tool Use and Care

17.Do not force the power tool. Use the correct power tool for your application.
The correct power tool will do the job better and safer at the rate for which it was

designed.



18.

19.

20.

21.

22.

23.

Do not use tool if switch does not turn it on or off. Any power tool that
cannot be controlled with the switch is dangerous and must be repaired.
Disconnect the plug from the power source and/or the battery pack from
the power tool before making any adjustments, changing accessories, or
storing power tools. Such preventive safety measures reduce the risk of
starting the power tool accidentally.

Store idle power tools out of the reach of children and do not allow
persons unfamiliar with the power tool or these instructions to operate
the power tool. Power tools are dangerous in the hands of untrained users.
Maintain power tools. Check for misalignment or binding of moving parts,
breakage of parts and any other condition that may affect the power tool’s
operation. If damaged, have the power tool repaired before use. Many
accidents are caused by poorly maintained power tools.

Keep cutting tools sharp and clean. Properly maintained cutting tools with
sharp cutting edges are less likely to bind and are easier to control.

Use the power tool, accessories and tool bits etc. in accordance with
these instructions, taking into account the working conditions and the
work to be performed. Use of the power tool for operations different from

those intended could result in a hazardous situation.

Service

24.

Have your power tool serviced by a qualified repair person using only
identical replacement parts. This will ensure that the safety of the power tool

is maintained.

VOLTAGE WARNING:

Before connecting the machine to a power source (receptacle, outlet, etc.), be sure

the voltage supplied is the same as that specified on the nameplate of the machine.

A power source with voltage greater than that specified for the machine can result in
SERIOUS INJURY to the user, as well as damage to the machine. If in doubt, DO
NOT PLUG IN THE MACHINE. Using a power source with voltage less than

nameplate rating is harmful to the motor.

_3_



SPECIFICATIONS

Rated Power Input 1500 W

No-Load Speed 390 /min

Max Stroke 220 mm

Magnetism 15000 N

Max. Drilling Twist Drill Bit 23 mm

Capacity Core Drill Bit 50 mm
Connector MT2 Shank

Net Weight 21 kg

2 Due to the continuing program of research and development, the specifications

herein are subject to change without prior notice.

ADDITIONAL SAFETY RULES

1. Before use, please read the instruction carefully and then have a general idea of the
magnetic drill’s characteristics and operation rules. The operator must receive
special training and get qualified before work.

2. Before use, please acknowledge the voltage and the work voltage cannot be higher
or lower than 5%. If it exceeds, the motor will be burned and leakage accident will
arise.

3. The operator must wear safety helmet, insulating gloves and tight overalls. Do not
wear hanging ornaments or expose hair outside the safety helmet to avoid twist
accident. Always turn off the machine before leaving after finishing the work.

4. Do not let water come inside the motor and avoid the vent to be blocked, otherwise
the motor will be burned.

5. Please watch out the safety of personnel and properties on lower floors while
making drilling-through operation. Moreover, please pay attention to the building

structure when drilling on steel beam columns.



11.

12.

13.

Do not operate the machine in dangerous environments, such as in the presence
of flammable gases or dust. Keep working environment well lit, clean and
organized.

In any case, the magnetic drill should be turned on under no-load condition.
Startup with load may damage the machine. When working at heights, always
watch out the stability of the machine to avoid it from dropping down.

The power wire should use three-core rubber cable to ensure the ground
connection of the earth wire.

Always unplug the machine before installing or moving it.

. Only use original spare parts for maintenance to ensure best performance of the

machine. (The manufacturer will not take the responsibility for any accident
arising from the machine not being fixed firmly.)

This machine comes with safety belt. When working at heights, always fix the
machine well with the safety belt to avoid accidents caused by the drop of the
machine due to the sudden power outage or blackout.

Lift the machine up to move it to avoid the damage to the electromagnetic chuck
of machine.

Do not cut off the power wire and change the plug by yourselves. The PCB or

motor of the machine maybe burned after the changing.

SAVE THESE INSTRUCTIONS.

/A WARNING! MISUSE or failure to follow the safety rules stated in

this instruction manual may cause serious personal injury.



Function Description

Rear Cover

Guide Bar

Motor Housing

Motor

Gear Housing
Electromagnetic Chuck
Electromagnet Switch
Motor Switch

Base

2 © ® N o o bk N =

0. Feed Lever

INSTRUCTIONS FOR OPERATION

CAUTION:

® Before use, please get to know the structures of the magnetic drill like
electromagnetic chuck, electric drill and transmission function.

® Make sure the machine is switched off and unplugged before removing the drill bit
after installation.

® Rotate the feed lever to check whether the drill can be up and down freely or not.
Raise the drill to the upmost to install the drill bit, either when uninstallation of the
drill bit. Lay down the magnetic on one side when necessary for easier
installation/uninstallation.

® Be sure that switches of motor and electromagnet are turned OFF before plugging in
the machine.

® Use a leakage protector in general, either installed on plug or on socket, while
using magnetic drill. Otherwise, the operator should wear insulating gloves and
shoes and stand on insulating pad. Always use a RCD (residual current-operated

device) with actuating current not more than 30mA and actuating time not more

_6_



2.

than 0.1S, when operating the machine in a damp location or on good conductive
materials like metal frameworks.

This machine should be properly grounded to avoid electric shock to the operator.
The grounding device should use up-to-standard wires and with earth plug

connecting to earth wire. The

grounded power socket should
connect to a connected eternal
grounding device to ensure effective
grounding. DO NOT CONNECT THE
EARTH WIRE TO THE TERMINAL
OF LIVE WIRE OR THREE-PHASE
LINE.

Always use sharp drill bit. Twist drill Fig. 1

bit can be installed on the drive

spindle directly. (Fig.1)

To install the core drill bit, first place
the center pin into the drill bit. Then
install the drill bit on the joint of the drill
and fasten the lock screw. (Fig.2)

Place the machine near the drilling

position, plug in the machine and Fig. 2

point the drill bit to the processing position. Then switch on the electromagnet to
attach the machine on the surface of magnetic materials such as steel and so on.
Pay attention to choose appropriate adsorbing materials and make sure no
sundries on the surface while checking whether the magnetic force is strong
enough.

Always fasten the safety belt while use the machine for side and top drilling
operation. To fasten the safety belt, insert one end of the safety belt across the
lifting handle of the machine, tie the other end onto the solid structure, and then
fasten the safety belt. Try a hard pull to make sure it won’t loosen or move.
Switch on the motor and make sure the drill bit is working in a smooth way
without vibration, and then start drilling operation by rotating the feed lever.

_7_



5. Slowly advance the drill bit at beginning and do not overexert to avoid the motor be
overloaded.

6. If the motor stopped suddenly or the drill bit was stuck, switch off the motor
immediately. (CAUTION: DO NOT TURN OFF THE ELECTROMAGNET SWITCH).
Switch off the electric drill for a rest after every 2 to 3 hours continuous operation to
avoid the motor be burned because of overheated.

7. Replace carbon brushes immediately when they are worn out. Both carbon brushes

should be replaced at the same time.

Adjusting the Tightness of Magnetic Drill Track

CAUTION:

e  The tightness of the track has been adjusted well before the machine leaving
factory. Do not adjust it at will unless strong vibration or fall down occurs on the machine
which may lead to the looseness of the track.

There are five set screws on one side of the base of the machine to adjust the tightness
the track.

Rotate the feed lever to check whether the tightness of the track meets the demand of
drilling operation. If not, use the open-end wrench and hex wrench, which come with the
machine, to adjust the tightness.

1.  Rotate the feed lever and loosen the hex. socket head screw M5 X 16, used to lock
the track.

2. Use hex wrench to adjust the set screw M5. Meanwhile, rotate the feed lever to
check whether the tightness meets the demand of drilling operation or not.

3.  After adjustment, retighten the hex. socket head screw M5 X 16.



MAINTENANCE AND INSPECTION

CAUTION:

Always be sure that the tool is switched off and unplugged before attempting to
perform inspection or maintenance.

1.  Clean the bottom of the magnetic drill after each use.

2. Refill grease properly with technicians every three months in general use to
avoid any damage to the parts due to the shortage of grease.

3. Check often whether the track guide guard becomes loose or not and
adjust properly.

4.  Always use original replacement parts.

Damaged cord must be replaced by a special cord purchased from authorized
service center.

% To maintain product SAFETY and RELIABILITY, repairs, any other
maintenance or adjustment should be performed by authorized service centers,

always using original replacement parts.

TROUBLESHOOTING

Fault Possible Reason Remedy

The vibration of the drill | Correct the verticality
makes the fasteners | and retighten the

loose. fasteners.

The hole drilled is oval
Drill in a single side. Re-drill the hole.

There are raffles on the
) Clear raffles.
adsorption plane




Fault

Possible Reason

Remedy

The
electromagnetic
chuck has no

suction.

The switch doesn’t actuate

well.

Repair or replace with a new
switch.

The power is cut off.

Recover the power supply.

The fuse is burned.

Replace with a new fuse.

The electromagnetic ) )
) o Repair or replace with a new
chuck is short-circuit or )
electromagnetic chuck.
burned.
The electromagnetic

chuck cannot adsorb to

the iron piece.

Replace adsorption plane.

The

burned.

circuit board is

Replace with a new circuit

board.

The magnetic drill
does not run after

plugged in and

The switch doesn’t actuate

Repair or replace with a new

well. switch.
The connectors  may

Inspect some connectors.
loosen.

Carbon brushes do not

Repair or replace with new

i contact with the
switched on. brushes.
commutator.
Armature or stator is | Replace with a new armature
burned or stator.
) ) Replace adsorption plane or
The iron piece to be

The magnetic base

has little suction.

adsorbed is thin.

thicken the plane. (Thickness

=15mm)

The adsorption plane is

small.

Replace adsorption plane or

thicken the plane

The diode is lack of solder.

Re-weld the diode.

_10_




_11_



EXPLANATION OF GENERAL VIEW

1 Center Pin 26 Gear 6

2 Long Center Pin 27 Circlip for Shaft

3 Circlip for Hole 19 28 Needle Bearing HK1010

4 Washer 29 Ball Bearing 60827

5 Spring End Cap 30 Gear Shaft 5

6 Spring 31 Flat Key

7 Core Drill Bit Joint 32 Gear

8 Friction Plate 33 Gear Housing Cover

9 Seal 34 Ball Bearing 6201VV

10 Gland 35 Armature Assembly

11 Washer 36 Ball Bearing 6200VV

12 | Roundwire Snap Ring for Shaft 30 | 37 Pan Head Screw M4x12

13 Gear Lever 38 Pan Head Screw M4x6

14 Hex. Nut M6 39 Carbon Brush

15 Threaded Straight Joint 40 Carbon Brush Holder

16 Hex Socket Head Screw M8x38 41 Coil Spring

17 Pan Head Screw M5x14 (with 42 Motor Housing
Spring and Flat Washer)

18 End Cap 43 Stator Assembly

19 Drive Spindle 44 Pan Head Tapping Screw

20 Flat Key 45 Baffle Plate

21 Ball Bearing 6205 47 Gear Shaft 3

22 Circlip for shaft 48 Guide Track

23 | Pan Head Tapping Screw ST5x55 | 49 Pin

24 Gear Housing 50 Hose Assembly

05 Seal 51 Pan Head Tapping Screw

ST4.2x25

_1 2_




daiias bl o cufia it
ID MD50HQ

+3,11.: 26956

d,)i.ﬁaﬂ \ QLAﬁl&S

lealaai) J.3 aﬂ\j.x.g Q\.Aﬂja.jj‘ 532 ?'G'é g 5¢) Jﬁ >



@F
AR U8 el o3 agdl 5 dliay T 3l



dgaddl) dadad)

Jid i bl ual) addiud g aleds Ll 4y Ry oS 10
s g gl qmia g AuilaeS B0 ardiad Y Auily S B
ity L5 2liiY) pe o dhiad Agga¥) gl Jgasd g < jadal)
5 s dpas i dulas) L (5955 28 il s SI ) 50 ¥

£ ) u-b Lu\d el AMM\ ‘\al.na.n Cilira addda) 11
Slola Y/ o s iewal) 4l o) Cfoead] T g 4 u.u.mﬂ UE‘J
FolE sl LY sl gL Lo duslial] Cig L 6 duas il
ch/ Zlan of Gulall Cilaiill 5 ¢ 3Y 3V i

Cildy) A b plidall O (e Sl agasball E padl gia 12
Jalaal) gf Ay daal) Ay tday of / 9 ABUY ausey Al g Ja8 Jurainl)
o Cmu/ le Slanaly Ll ¢S <l 0¥ o glaa si 514Y)
Ly Rt) "LILLL// Clv.u L 45).13.1 ‘5.1.// 4.u1 @SJ/ u/j—?)// .E.mu.:
ol ll

i O goalady) gUbed) ol byl glibe of A3 2 13
oo i 5l (5 islai] Flide dsas 5030 28 Aaily gSY 318Y)
Anaiid dalea) Cogon ) daily oS 301 Cua sl o _adl

ama B dijig 5 el e Bhla agal Sglal Y 14
e Yl 5 il g SI 310Y) 3 o] 2S5 rany J3a B GY)
dxd siall

o Adlidad (e 855 Y Qalia S8y dadla g3 15
gAY oo Tam CIJERN 5 daday dyrd S ) gaa
o s gaell gl daslimdll udlall led O Ser ASadall
A gniall oA Y 8 sl el

Arazg il ) AT e Juagi Seal bt a3l 16
il pen plsis] granaa (S \galidind g lghuagh (e aslch
sty Al lSal o Sy 5 S

Lgale 5 g ity gSIH ol ga¥) Al

AgilygSh 31 addiad AuilyeS B lo bai Y 17
i aelly o pites dussliall 4ily e SI 50Y) gl Agadial)
Al o lpanai o7 530 Jrealls Glof STy Jondf

Byl of el (s a3 ad 13) dgily Sl 81 aadduid ¥ 18

5 ubd el lialls lgd nSadll (Sey Y il ¢S 510] 5T ALads

gadla) oz

A Moy AN ol /g AgilagSH B e uildl) Juads 0B 19
CriAd gl clBalal) judd of cSlsamd i o) ) U8 Auily sgSd 514
BAT (o J dadleall Ald sl plaill s3a Azl gSY ) g
B (o b e il SIS0 Lk

¥y Juilal) Jolita oo 1y Allalad) duily eI <l g cp3dS 20
Clagdazl) o3 of A3y g SH 31Y) ¢y g aa ¥ ) LalA mand
S 585 s Ayl ¢ SI ol oY) g Agily gSY) BN Sty
el e Cyedsiull

by o sl ase e @Bal duligsh i) Llwa 21
e Jign % AT Ala g s10aY) sy A8 adall o) oY)
A.Hu 2 4S80 31 3aaly o8 il Alla B Auil gSh 31 Jae
lgaladial @
il ST <l 0¥

4_1[_1..4 £ gav Ll u.?bm.// 1] _L:.lz.// Soag .

(A8l il 930 ggand) ABUal) il oY Aalad) Aadlsd) il jyiad

e gLl e (503 28 Claddail) JS aghl g Agling 81 | da3 &
Lol 5 Goos 5 Auils g8 dera A olidf 5y 4Siall Cilagleill

RPV-ES

Jediauall gﬁ \galadiay Cilaglail) g Q\#Saﬂ\ Jsu Bisa)
axi il g8 30 ) & pinil) 8 "0l S I mlbns il
Ay ez of ol e SIL

Jdarll (ASa & dadlal)

Ghliall se )ia bsliay AL Jaal) dihia o Bila 1
0l sa £ s g o Aalbiad] o dano il

Fha ¢ Jladid ALE ol B AailagSY i gaY) Sy 055 Y 2
il oSN ‘_,/j.v}// Jlasay Jae - J\ <l e J\ JJ‘JA.M EEEY)
DR f il Jaidii 3§ <l ) ik GRS

Cun il gl 510 aladiia) oUE] Tamy ol gadall g JilY) (5.3
5l o 8 Cld) Y] s o Sa

Zaﬁlgjésﬂ Aadud)

Jaad ¥ _GJ&AJ\ &4 Ag.ilg)ésﬂ Q\JAKY\ ualda d..l\hﬁi a\ a4
24 Jagad uslda éi adddad ¥ SEY e JS4 sly oulal)
Clalasall 5 lglried oo o) S50 (uslial) Aga ) Agily sgSY < 589)
il e SH doreaall ok o s il Laiel)

Culd¥) Jia Az Y ghall o Ga Ml amal) Jlall Giai 5
dodall e plie sbA cllis cladilly Mally cleladY) g
¥ e o IS 13 il g SU

;IAJ/(‘/‘)\A.J‘;‘J}‘M _K,US:JX\ Ji hall izu‘t,ués:\ ﬁ\gﬁ\ wa2i¥ .6
Atily ¢S darial }ﬂ/ bR Gl ) il e S 50 )

\WJ‘M‘H‘M\P YM‘?"“‘““‘U““”?
Caillg 3 all e Jama M) ‘E,Sg‘ Ag.llg)ésh HEN AP
o 5 miall DY) A anal) s)3aY) sl Balall cilgally
Al S deral) pba ey 5 ASHlel

atad e addiad (@il gl gl & AuiligS 31N (i e 8
RS Cualio Sl 225 G £1 5600 (R Al AT Gulia
iy g S darall b o Mis 5IBI o sedl

AM‘)MY\)ﬂ‘i—\h)ul&n&@h)@iau\dmu\s\é\g
Alasin/ _(RCD) ‘_;B_A:M\ gl Gaas 10 ?Ja.u.uu
Al e SH doreall ok e Jliy RCD

"(RCD) hiall il Jlea" albese Jiiu) ey 1 dlaadle

i "(GFCD gm)\ﬂ Jhall (BN ch\s" cﬂma..u

M(ELCB) wa¥) i

5_ala cla\s"

[



Ay dadhud) a0 g

588 Lo Jgaall ?: Alimy Clagdadll 3e) 8 calaaiuy) Jé 1
OF g i) ety ahlizall gall pailed oo ddle
Gaall 08 5 50 05 ol 5 Uals G5 Jrial) iy

Jaall 2a 038 Of (S Vs deally 8l e V) o s calaain¥) 082
Ly Cogas s & jaall (a ol o3 gla3 1) 75 (e J81 51 el
(Gl

sl Y5 ALjlall cul el Aadhud) 3353 ol ) Jadell e aa 3
BA z A Jadll (el S Adlall Ja) @us Y ARl
J8 ASW Jin alady Wil & ) ym Gala ciadl Lkl
. Luj\ (2 cl@.uy\ REX] \@4 )Ahm

Y daseil) Aadh dasdl ity el Jals gﬁg ;w &AJ Y4

ol Agdind) (3l shall 3 clSTiasll 5 ol Y Al S ol a )3.5
olia¥) a L lld uk: sl s Jadill JMA (e - _iall el a)
ol pladisaeet Lo siall vie sl JS )

Dt sl e sy e 5oba clin B Jlead) dadn 55 Y 6
dalhis da JSiy selima Jeall Ay o Bliall Jlasad i
Aabiag

dm.ﬂ\ eJr. alla s suula‘..u.d‘ h_llm” J.uz.uu [SREN] ‘J\; Lﬁ‘ 4 7
Gl daall 2ie Jlé;l\ <l deall e el e ALY 5
ek st cuintl ZSW) ) il e s (e gial ccile i )

el 31l G e JAS 38 @l axdieg of 208
sy Ll V) e i)

A4Sy jad 5l 4t J Wil Sleadl Juail 9

ehal il o] Ailgall LAY Ll abd L aaaiel 10
iy Cola gl e A g pusall Animall RS 80 Jeals o) lgall
(pSak AsSlal) #3a) axe oo

el ) Lo deall ie ¥ ol aa Gl Sleadl 8 11
ol sall il Y Al s alasinly i 3SW #Oaly il
f (aliall il seSH Ll gl ey ASlall o ghs e dealill
b eSl Ll g sl

mbline 5 Sl ol Gali il LS, );;J LSl ad) 12
Aany

S PCBGsia) legy iy (ualdl) puas g 48l llu alis Y 13
)3,):.\.“ A= )'14.;.“ ui‘)a.q

Slaglail) o3a Béay od

ol (8 B gl Al 300 g8 £L3) ade gl ARG £ ge ! adad
.S_):)Ja'a :\,.waid aglm! Sl 28 138 P’-’SSMY’

28
———

Llaay) i il C.L»sl\ ool Adglatg Bala adadl) aigd gf 22
s d@u\} Bl 4 e Jai sala S| J¥N &e Tanaa IS g
Sail

cilialally A gsll 31Y) adiiul ciletedl) sigd oy 23
&3 Jaall g Jandl gt Ble) ja ga ¢ I3 L) Lag il o) £ 50l g
dalise Cilalae] Luily o SI SLYI plaSiul 525 25 Ay Al Coady
nhs ey ) ] dmaaial) S e

44240

Qasa M) b Al g ApilasgSl i Adlpa Gl 24
dadlaw o Llind) U5 s Jibd Abllalia L& aled aladdaly
il g SI 51f

gl gall adad

gad) o e oSl ¢ () cdiia Ay gla) Bl jaoe Slead) dia 5 U8
Gy O Sy laad) anl da gl e 520053 53 ) 4l sa akal)
el Alaa) 3 Sleall amall @l e ST seay AL s
QB3 M ¢ i b S 1) Slead) Gili e Slad ¢ 5 ka2
oy da gl ol (e Bl dgan Rl s aaddul leal) Jua sy
oaally



Cildual gall

1500 W TP FEN
390 /min Al gen sude
220 mm Gaelaall A€l Sl
15000 N FINSRTW
23 mm Sl Gy 3 Lo hx

50 mm FIIR RN a8 e
MT2 cse s
21Kg il 5

RN )\afn‘\ Us )ﬁuﬂ Zm); Uia Ql‘.ém‘}».“ ‘)AS“AM ):\51—_13}\5 &:v;gl\ Gduﬁ o X

A
a3 &

el )8 ?"‘53“““ QJ:. G dAlay! )La Julasl
pladiny) Jala



Ll 8 Y5 S el g bl Ol Al il
e by il Jusie o i)l dell iy 0B pd il
(2552l Jasl

4255 A3Slall Jua iy 85 ¢ iall putasa o il A5Slall g 2
Sl Cuslalinall (s o8 o5 Asllaall gange ) sial) Al
Y Las 3l e Agulalinall o sall mhas Gle ALl 3L
il 3 sm g pae (e 0S5 Alial) ) eV o) 5e HLAY 4l Sl
Loy 458 Apulaliaall 580 CalS 13 Las i) ol mhandl e
S8

Al i dlead B3SLl plasid s GLYI ol 3 Jay yy Wil 3.3
s O alia ok aal daal (el sl Lyl dulalls
eclaall JSselly SV okl Loy 515 ¢ Slgadly Galall xd Sl (e
S ity 4l e oSl B8 e G 1l ) o5
oty

O30 Auslas A8y 3hay Jond _gal) Al o (g Sl 5 @l aall Qi o8 4
Al 13 s sk e iall Agdee Tadl 5 ) )

A3 Qpeatl) Guiadl Al Vs Aol 3 ial) Aall clay 35
& aall

s iy o8 clle dall dadl culS f slad & el G5 136
clidal i Galids L8 Y ) gl Gle doadll
2=y 4al qﬁ\g)@ﬁ‘ Glsiall daxadd Calagla ?5 .(gu:\hui‘:}‘x.ﬁ\
Goa indl il Jarasill e clela &3 L) el OS
Bolallds Flai ) o & aall

il Jlagial g ledli die ) e e S GEE Jagial 7
(2 gl udh (3 Ay g9 S

dsds ll Coua g

5 L[ 9
3
A ~
8
5 7
5 0/
6

Silall ekl ] omblina s jeSh Gl 6
ek 2 S e 7
Saall el 3 A aall 3 _ils #l5a 8
o andl IS jaa o 4 52l 9
ASay) ellae 5 REMEBYRTI]

Joraiil) Chaglad

1opdal

e ubalinal) gall (Sl Lo Caadl) o haiu¥) Jd o

¥ sk g5 il jeSY ial) ¢ udalina 5 gSh Lz

g i Aadl AV alsdy leal) Qs iy e S e

sl (S o Sey S 13 Laa a3l B30 £ 50 s S8 @

4)5;” 48] u“_a:uﬂ Ghi sz} lsiall cé)\ N ?i :\3)34 Jéug\J} GJ.:‘Y

Je aaly qila Lo Guohliall gaa dall 268 Gl slall die L)

ol elal) /S i Jigail 35 5 uall

di oSl Gublinall s ¢ aal) molia Jils Cilay e b e

Sl doa s

PRI PRV R -SCIV. R N IR PSR (SR WS S | PRPREC

JUATSERUREGRRIE KU EN e, NEEON N VS A | W |

Alle salay e gl g Al A0aY) 5 <l sl a)ai ) Jadiall

25 Y ddd )l e (Bl il ey Slea) RCD Wila aadiu

i vie AglS 0.1 oo a3 Y ddl Geds el ke 30 ce

Y e dan Alase Mo Gle ol by adse o8 A3SL

Ayiamall

Gipaa ind manaa (S dunyie ALl o3 0S5 ol g @

Gl & Gy ) Slen ain of oy Jidiall ALy g€ A

ety of ng gl sy Jsia guaf Gl e (s sisall )

G il asal desiia sl (2 li Jleas (asal) 28D Guia

Lal ol alall @) ol am Y1 Al Ja iy 283 Y i)

skl 55

U e Coug 55 e Sl Sy 53l e Al Wil a3 1
(1 3all) 3 o8ka pal Y & jaa



prasbliial) il jlasa (35 Jaya

1ol

Al 085 Y adiaall A8 3 0lae JiE el Gua el e

35 las A1SLl Lo Bagiu o 58 313l Caag ol Le 42 ) G

Dl a3 ) g

Lol A3Slall 32l (e aaly ila Llo ba udlie dued llia

hasall 2lSa)

Gl ol sl G IS 1) Les @iatll 308300 @1 )3 ey H8

sitall Tyl #libe adiuld IS Y1 (S5 o) 1Y sl ddee

Gl ol AiSlall g iy ) ¢ ualandl Joy 1) #lisa s

L6MSE Xusiall ul ) (o 2 Al al) i 5 333530 153 530 081
sl J8) 2335y

i oy MB doal) & s o] uidaas Ui p23ia) 2
dglee il ol Gasal) (IS 13) Lae (383l A3 @13 s o
Nl il

A6MBX (ssiall Gud ) o 2 (gusl2usl) oy 5 22 clapunl) 2233

Chsndal) g Adlaual)

:‘)53:3

S sand el ja) Aglae U8 U giniay Al 30Y1 o e Lily S

Ai\gm

el IS aay anlalinel) Cldiall (e Jind) ¢ el Calaii 3]

Sy el 43305 JS i) pa gramaa (S0 o sadll Aad salely o8 2
.eﬁm‘ a8 ;U;;ﬂ O &é‘ iadl ale

oy Jhasell Qs Gl OIS 1Y) Le a1 e IS b @883 3
naa JSy ddanal 5 Y o Laliiad

ALY Ll ol Ll aasinl 4

aine dadd S je (e o3l o3 ala el Gl @lludl Jladiul %

szl Clidee o) sa) Cing ¢ 438 e s el dadla Lo X

e alaainly ¢ Badinall da0al) 81 e Al 5y 5 AT basa f Al

il ALaY) )



lgadhal g slbaaY) Cildsia

=

Jalina i

ba

el Iy ) 2l g (53 s0nll zaaa

Faliad U Jany sl il

al s sale)

als il 8 gal)

.a;...'a‘} Ol sae

O ia¥l s iha e by ga Sllia

Ayl 5y sinall 5 iall

A8l pleall alal e

Aalimgae g S Ll

Al dodll ae Jlasiad i 250 e ISy Jeng Y liiall
FEATIEN ] s h_eSU gl ¢ Uil
Gallall gamially ada gaaie Jlagiuly ?5 LB _yiaa Jyiall
S leS Gle sa uhaline s oSl Gl | uublinageS) bl
A guahalina s eS Gk Jlaind ol #3la) RN Lossal Gl
1 Gaied O Sy ¥ Aganhline g SN Gl
.J“)J.A\J\ c).\Ua dl.},\.\u\ %‘hh iakid
Baaa il sa da gl Jagial A3 Jaasylallda gl
W Jaasil) xe ol o1 =S 0 idall
eadl dodl) g Jatd S ¢ = ‘%JS“*JM”.C — El W T
Clua sall aza (andl 0l sall b 23y 28 § . .
- — = — — 4.‘4..‘}.1 LX) ‘su:a.hl.\:.d\
B b il ) #a) oSlall 2 g0 SI 8 el Y - .
- - Al
A (Sl gume ol g Ll e Sall ol bl s 5 o3
5kl ASLews gl ) 351 5_ilda Jlagid e i
; 1a 31 el 3l el apaall daod .
(15ME iSkess) Al el el Bk | e s
5l ASLews i ) iYW 5 _ilda Jlagid ke )Y 3 ik (s baad




Aaladl 3_k3N £

6l | 26 Oe S e 1

asealldils |27 dish 38 Jlese | 2

HK1010dea35_2) | 28 19 <l alss) |3

608ZZ<)_sh Jda | 29 e | 4

5cald |30 e idgielle |5

ghaa i |31 sl il 6

Claee | 32 Tanda) sl Aol & jisia 7

Syl ellee |33 ASial a i | 8

6201VV s S | 34 seiall |9

Aalu¥) gaena | 35 38 10

6200VV i _S¥ dds | 36 e |11

M4 x12 & nel, | 37 30 2 g0l AL Ay jila ldad) d8la 12

M4 x6 e by | 38 Lallgl )y |13

OsSalas |39 M6 Gl ol | 14

OsaSW 3LE 8 Jala 40 & jida pgie o saall 15

Dl Gl |41 M8 X8 (b (ul )y 53 52 o 16

aall et |42 (Rakoases 38 i3 dila aa) M5 x14 2 2 el | 17

il ¢ 3all gl 43 Al pllae 18

ST4.2x750 50 (il e coaiill (2 | 44 Uaall dyas |19

alalldag | 45 chue s [ 20

3edls i | 47 62055 SV ezl | 21

Gl Y el | 48 Ssealldila | 22

|49 ST5x55p5ee (il e coaiill 2 0 | 23

odiju i | 50 Jsay ellee | 24

ST4.2%254 502 (il Sl caaiill & 5 | 51 ssdall |25
nE



Aaladl 3_k3N £

i8S clide 76 S8l ellaal) 52
5 ) sall Allsal) 77 il ellae 53
MBX25 (onshus (il 5 53 & 9 78 e | 54
sl 79 M4 Gaiall gl |55
AL Agualalina 5 58 dynanll 80 cuiill A8 |56

Oegial) ga GaiaTl 3 Lyl Cilesinl ccyded Alae
i lgada s Ll pedl bl oy 23S (e peal S)s 81 saplea | 57

lebalia co 23 5 uS3
1 oalia i 82 ashoAPU |58
2 (galaa, dllu 33 MBX20 sl il 53 52 |59
4 ol dl 84 M5X16 sl ol o230 | 60
3 ‘é..a\..a) Sl 85 &Ia.:.. Dlasall 61
Gl eI 5 _slall il ) 86 M6x20 ghiliie s sy bl & | 62
Al 87 e 63
Gl 3p2al) 88 cild e dis | 64
el 1.5 5 861 sl |65
mm 4 L Zlie o 862 il Gide | 66
2.5 bl plida ¥ aslo 863 M5 dlsena il | 67
BN 864 M5X16 ISH i e paslous usla Ao sana spelass | 68
a3 866 gl dds |70
A s 867 Ll i)y dgmaadl | 71
AL s 868 uiaill dag |72
ddsh @5 alsaba | 73

Gadad) aal A S pdll dgmeal) 14-1
ol il 2lsia | 74
Dbislde seaa | 58-37.53 Gods | 75
S

10






